(%8 LVA) 01nJq }z 8T'90€ = 013U |z 0S'€8T = [WI/}Z 0°E9 X W GY :BIUSDIAM (W G'p I5O|1 BUBIGIPO ‘Whf GT OP 2$0433|PO) pepiAzid

FE_ yoAuuApd 195015Az231U YyoAueuqspo 2so|!

MO3B10S elujezozSAZO0-)iuL01qZ :250)33|PO ,

00'€9 009 | 00'S9 0099 0029 0089 | 0069 000/ O00TL 00ZL O0EL 00'GL 008L 00'T8 |OZOP ST PO
00’95  00'ZS | 00'8S 00'6S 0009 0029 O00E9 0079 0059 0099 009 0089 O00TL 00'SL |SLOPOL PO
0005 00TS | 00TS 00°€S  00%S 00'SS 0095 00ZS | 0085 0065 0009 0029 00'S9 0089 | OL OP§ PO
00'Ey  00v¥ | 00'SY 009 008 006¥ 000S  O00TS | 007G 00'€S 00S 00SS 0085 0029 | GOP
G 8 L 9 ' S v v 3 € sz z ST T | #50-Yuoigz
/omau iz \.u.momwne

usfmomAsdpozag moxiuio1az az wAulAanziuasp wapoysowns ysAuuhid 13s01sAz231U 101GPO DZ XoMDIS IUIIMDISIZ

)od 2z0z ‘£0°T0 biup po Aablnzbimoqo pbmozsnqjoy Auiwo aiuaiay bu




